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Part One: Readi
A/ Comprehensi

Yl

£ (15

n {08

¢ text carefully then do the activities.

points)
oints)

exploits them in

Not all |work is bad for children. Some social scientists point out that some kinds of work may

be completely

ess, except for one thing about the work that makes it exploitatiye. For instance, a

child who delivery newspapers before school might actually benefit from leaming how to work, gaining
responsibility, angd earn a bit of money. But what if the child is not paid? Then He or ghe is being

exploited.
In Afri

the International
were involved in
unconditional' w
conflict, trafficki
One m
inappropriate jobs

a) Children

child labour. Moreover, some 8.4 million children were engage
rst forms of child labour, which include forced labour, the use of
in children and in their organs.

v say that poverty is widely considered the top reason why

a, one child in three is at work, and in Latin America, one child in five works. In 2000,
abour Organisation estimated that 246 million child workers aged [petween 5 and 17

in the so-called
children in armed

children work at

for their ages. However there are other reasons as lack of good schpols and day care,
lack of other servikes such as health care, and family problems.

d exploitative work

1. Choose the m:E idea of the text.

b) The child
¢} Children’s

d labour organisations
educational problems

2, Say whether

e following statements are True or False according to the text.

a) Chiidren’s|work is always harmful.

b} The number of African children involved in work is higher than the one in Latin

¢} Poverty is ponsidered the only cause of child labour.

America.

3. In which paragraph is it mentioned that children are involved in exploitative works?

4. What or who do the underlined words refer to in the text?

a) that (§1)

b) she (§2)

5. Answer the following questions according to the text.
a) What does child labour mean?
b) What are the causes behind child labour?
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B) Text Exploration (07 points)
1. Find in the text words or phrases closest in meaning to the following:
a) safe (§2) b) in addition (§3)

2. Complete the following chart as shown in the example.

[ Yerb Noun Adjective
Example ; to harm ! harm . harmful/harmless
to benefit T R Ty

L verseevresm 80CESS | ierennnee

L eeeerees _ exploitative

3. Ask the questions that the underlined words answer.
a) Some sog¢ial scientists point out that some kinds of work may be completely harmless.
b} In Africd, one child in three is at work,

4. Give the cornect form of the verbs in brackets,
Seme govygrmments had helped poor families before they (try) to {ind solutions t¢ the problem of
child labour. Buf these families still (o be confront) with many difficultics.

5. Match pairs that rhyme.
[

A 5 B
1. three &) honey
2. health b) favour
3. money ¢) free
4. labour d) wealth ]

6. Reorder the following statements to make a coherent paragraph.
a) Childrenlalso experience violence at home, within their family and from other ghildren,
b) That is why international organizations defend their rights.
¢} which S"Jmetimes leads them to bad injury or death,
d) Violence s found in schools, institutions, on the streets and in the workplace.

Part Two: Written Expression (05 points)
Thoose one of the following topics.

Either Topic 1:[ Write a composition of about 80 words on the following:

Some childden work to help their poor families. What sort of advantages may they get from their

work?
Use the follpwing ideas.

" |garning organization
gpining moral satisfaction
pining responsibility
fearning how to work
epming a bit of money

" " BN
9

Or Topic 2: “ Millions of children are engaged in hazardous situations or conditions, such as working in
mines, working with chemicals and pesticides in agriculture or working with dangerous machinery”.

Write a composition of about 80 words stating vour opinion and the measures that should be taken
to reduce or stop this kind of abuse.
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Part One: Reading (15 points)
Af Comprehension (08 peints)
Read the text carefully then do the activities.

Advertising is a form of communication that fypically atterpts to persuade potential customers to
purchase more of a particular brand of product or service.
On a recent visit to Glasgow, I saw a billboard advert on a main road in

sponsored by

responsibie for
The cam

misuse of alcohg

¢ Scottish Executive, aimed at encouraging Scots to drink resp
e way thev encourage others to drink.

recommended ligits of alcohol and 70% of women over 21 drank more than the reco

survey also foun
the number of w
Problems v
a whole, alcohol
of excessive dris
throughout the 1
The advert

communicating
behaviour?

i that while the number of males abusing the recommended limits hs
pmen doing so had risen.
vith alcohol misuse are most evident in areas of social deprivation. ¥

nking that has been widely reported to be a problem facing the pg
K, not just in Scotland.

p message to the public. Do adverts work? Is it the best way to

1. Choose
a)
b}
<)

2. Say whether the following statements are True or False according to the t

a)

b)
c)

1998.

3. In which paragraph are:

a)

b)

4. What orywho do the underlined words refer to in the text?
) they (§2) b it (§5)

e general idea of the text,
vertising benefits in Scotland

e positive aspects of advertising
vertising and alcohol

¢ number of women abusing the recommended limits of alcohol had)

lcoho!l abuse leads to health problems.
e advertisement is not intended to promote whisky.

e study about alcohol abuse mentioned?
e negative effects of alcohol mentioned?

e city. The advert,
sibly and also be

ign comes amidst concerns about the problems that alcohol can capse- particularly the
1. A Scottish health survey found that nearly 30 % of males over 21 abused the weekly

mended units. The
d fallen since 1998,

or the population as

leads to problems of liver and heart disease, not 1o mention the socfal costs of a culture

lice and authorities

aiso aimed at promoting a brand of whisky — a preduct that the Scofs are very proud of.
Thus, it was rather contradictory. It begs the question, therefore, about how suced

ssful adverts are in
change views and

ext.
increased since

5. Answer the following questions according to the text.
a) Why do companies use advertising?
b) Which advert did the writer see?
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B/ Text Exploration (07 points)
1. Find in the text words or phrases closest in meaning to the following:
a) tries (§1) b) wrong use (§ 3) ¢) largely (§4)
2. Complete the following chart as shown in the example.
Verb Noun Adjective

Example: to consume | consumption consuming !
--------------------- e ——— sponsored
to abuse T T !
| ! r-nmml_l_n_ir_*aﬁnﬂ i

3. Complete jentence (b) so that it means the same as sentence (a).
1. a) “I saw a billhoard advert in the main road of the city”, he said.
BYHespid that .....coooiiiiiiiiii e v e, .
2. a) The advert is sponsored by the Scottish Executive.
b) The Beottish EXecutive .....oovv i e .

C

4, Classify the following words according to the pronunciation of their final “s7T.
messages |- others — attempts — faces ~ Scots — changes

/8! fz/ fiz/

5. Reorder thie following words to make a coherent sentence.
strict / advertising/ governments/ negative/ should/ on/ introduce/ regulations

Part Two: Written Expression {05 pojnts)
Choose one|of the following topics.

Either Topic |: Write a letter of complaint to a travel agency about its bad services|during
your holiday. Use the following notes:
Advertisement:
- beautiful hotel
- double ropm with baleony in front of the sea
-~ relaxing dctivities: sports, music, visits,.....
- varied and fresh meals
What you have found:
- dirty hotel
- singie rodm in front of the market
- absence df activities
- poor quality-effood

Or Topic 2: Write a composition of about 80 words on the following:
Advertising plays an important role in our daily life, but it is not always positive. In your
opinion, what are its negative aspects on individuals and society? Justify your opinion.
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Part One: Realding (15 points)
A/ Comprehension (08 points)
Read the text carefully then do the activities.

"Chil
some way (phy
Not
be completely
child who deliy
responsibility,
exploited.
In A

the Internationgl Labour Organisation estimated that 246 million child workers a

were involved
unconditional’
conflict, traffic]

1 labour® is, generally speaking, work for children (that) harms the;
sically, mentally, morally, or by blocking access to education).
il work is bad for children. Some social scientists point out that so

harmless, except for one thing about the work that makes it exploi

rers newspapers before school might actually benefit from learning
pnd earn a bit of money. But what if the child is not paid? Then

m or exploits them in

e kinds of work may
tive. For mstance, a
iow to work, gaining
he or (she) is being

frica, one child in three is at work, and in Latin America, one child

in child labour. Moreover, some 8.4 million children were eng
worst forms of child labour, which include forced labour, the use
cing in children and in their organs.

One

ices such as health care, and family problems.

ber of African children involved in work is higher than the one in L4
is considered the only cause of child labour.

between 3 and 17
ged in the so-called
of children in armed

%ﬁ‘we works. In 2000,

may say that poverty is widely considered the top reason why children work at
i¢bs for their ages. However there are other reasons as lack of good

schools and day care,

itin America.

3. In which paragraph is it mentioned that children are involved in exploitative works?

4. What or whe do the words in brackets refer to in the text?
a) that (paragraph 1) b) she (paragraph 2)
5. Answer the following questions according to the text.

&) What does child labour mean?
b) What are the causes behind chiid labour?
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B) Text Exploration ' (07 points)
1. Find in the text words or phrases closest in meaning to the following:
a} safe (paragraph 2) b} in addition (paragraph 3)

2. Compiete the following chart as shown in the example.
Example : Verb: to harm..  Noun: harm. Adjective: barmful, harmless .

s  Verb: to benefit. NOBI: cvvcrivrrnnam Adjective! ....ovnvniean
* Verb:...... rerancanas Noun: access Adjective: ...... Pveerns
s Verb: cniiiicanien Noun: .....ccc....o..  Adjective: exploitative

3. Ask the questions that the words in brackets answer.
a) (Some social fcienfisis) point out that some kinds of work may be completely harm]ess.
b) (In Africa), ofje child in three is at work.

4. Give the correct form of the verbs in brackets.
Some governmgnts had heiped poor families before they (try) to find solutions to the problem of
child labour. But these families still {to be confront) with many difficulties.

5. Match pairs that thyme.
Al 1, three. Jhealth, . 3, money. 4. labour.
B/ a) honey. ) favour. c) free, d) wealth.

6. Reorder the following statements to make a coherent paragraph.
a} Children also pxperience violence at home, within their family and from other children,
b) That is why infternational organizations defend their rights.
¢} which sometimes leads them to bad injury or death.
d) Violence is fopnd in schools, institutions, on the streets and in the workplace.

Part Two: Written Expression (05 points)
Choose one of the following topics.

Either Topic 1: Write a composition of about 80 words on the following:
Some children wprk to help their poor families, What sort of advantages may they get [from their
work?
Use the following ideas.
» learning organization
"gainink moral satisfaction
gaining responsibility
learning how to work
earninp a bit of money

Or Topic 2: * Milliohs of children are engaged in hazardous situations or conditions, suchjas working in
mines, working with{chemicals and pesticides in agriculture or working with dangerous machinery”.

Write a compgpsition of about 80 words stating your opinion and the measures that $hould be taken
to reduce or s{op this kind of abuse. '
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Part One: Reading (15 points)
A/ Comprehension (08 points)

Read the text carefidly then do the activities.

Advertising-is—a-form-ofcommunication—that-typicalby—atiemplsto-persuadegotential customers to
purchase more hfa pa.rtwular brand of product or service. '

On a recgnt visit to Glasgow, I saw a billboard advert on a main road in [the city. The advert,
sponsored by the Scottish Executive, aimed at encouraging Scots to drink responsibly and also be
responsible for the way (they) encourage others to drink.

The campaign comes amidst concermns about the problems that alcohol can cause- particularly the
misuse of alcolol. A Scottish health survey found that nearly 30 % of males over 21 abused the weekly
recommended limits of aleohol and 70% of women over 21 drank more than the recpmmended units. The
survey also found that while the number of males abusing the recommended limits had fallen since 1998,
the number of women doing so had risen.

Problems|with alcohol misuse are most evident in areas of social deprivation. [For the population as
a whote, alcohql leads to problems of liver and heart disease, not 10 mention the sopial costs of a culture
of excessive dfinking that has been widely reported to be a problem facing the police and authorities
throughout the [JK, not just in Scotland.

The advert also aimed at promoting a brand of whisky — a product that the Scpts are very proud of.
Thus, (it) was rather contradictory. It begs the question, therefore, about how sucpessful adverts are in
communicating a message to the public. Do adverts work? Is it the best way fo change views and
behaviour?

1. Choose|the general idea of the text.
a) Advertising benefits in Scotland
b} The positive aspects of advertising
c) Advertising and alcohol

2. Say whpether the following statements are True or False according to the|text.
a) [[he number of women abusing the recommended limits of alcohol hdd increased since
$ 998.
b) Alcohol abuse leads to health problems.
¢} ['he advertisement is not intended to promote whisky.

3. In whigk paragraph are:
a) [(he study about alcohol abuse mentioned?
b) ['he negative effects of alcohol mentioned?

4. What or who do the words in brackets refer to ln the text?
a) ttey{paragraph 2 ) TH{paTagTap

5. Answer the following questions according to the text,
a) Why do companies use advertising?
b) Which advert did the writer see?
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B/ Text Exploration (07 points)
1. Fiad in the text words or phrases closest in meaning to the following:
a) tries (paragraph 1) b) wrong use (paragraph 3) c) largely (paragraph 4)
2. Complete the following chart as shown in the example.
Example: Verb: to consume. Noun: consumption. Adjective: consuming.
o Verb: -eeuvasuna .. . Noun: -—-----—u-m Adjective: sponsored.
¢ Verb: to abuse. Noun; ---=-mraememm Adjective: —--ammeememn .
¢ Verb: . Noun: communication. Adjective: ~ameemmumeens .

3. Complete sentence (b) so that it means the same as sentence (a).
1. a) “I sav a billboard advert in the main road of the c1ty” he said.
' DYHesid that ...t e e e e e .
2. a) The gdvert is sponsored by the Scottish Executive.
b) The Beottish Executive ............ocoiiiiiiiiiiiiiiiiee s .

-

4. Classify the fellowing words accerding to the pronunciation of their final “sf’.
messages - others — attempts — faces — Scots —~ changes

e 8l
L /-3 AR
LI - SO

5. Reorder the following words to make a coherent sentence.
strict / advertising/ governments/ negative/ should/ on/ introduce/ regulations

Part Two: Written Expression (G5 points)
Choose one|of the following topics.

Either Topic f: Write a letter of complaint to a travel agency about its bad serviceg during
your holiday. Use the following notes:
Advertisement:
- beautiful jhotel
- double rclom with balcony in front of the sea
- relaxing getivities: sports, musie, visits,.....
- varied an fresh meals
What you have found;
- dirty hotgl
- single rogm in front of the market
- absence ¢f activities
- poor quality of food

Or Topic 2: Write a composition of about 80 words on the following:
Advertising plays an important role in our daily life, but it is not always pesitive. In your
opinion, what are its negative aspects on individuals and society? Justify your opinion.
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Child labeur
Part I :Comprehension
8 pts
G5pt |l.a
1.5pt (22.a)F b)T ¢eF
Ipt 3. In§3
1pt| | 4. a)that:work b} she ; child
4 pts| | 5~ a) Child labour means work for children which might harm
them physically ,mentally or morally.
2x2pts b} the causes behind child labour are poverty , lack good
schools and day care , absence of health care and family
problems.
Text Exploration
7 pts
1 pt 1- a) harmless d) moreover
2-
1.5 pt Verb Noun ! Adjective
to harm harm _harmful / harmless
10 benefit benefit beneficial
to access/ to access accessible
accede _
to exploit | exploitation . exploitative
2 pts
3- a) Who peints/point out that some kinds of work may be
completely harmless ?
b} Where is one child m three at work 7
0.3 pt
: 4-tried - are still confronted
lpt
5-1~¢) 2-d) 3-a) 4-b)
1 pt
| 16-1~4d) 2-a) 3~c) 4~ b)
Part 2 : Written Expression
5 pts
3pts| | Topic 1 : Form
2 pts Content
- 2.5pts | Topic 2 : Form
. 2.5pts Content
.....2..../...1 vveessdandia
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Advertising
8 pts Part 1 :Comprehension
G5pt | l.c

3pts (2a)T BT ¢F

2pts 3. aing3 b)in§ 4

0.[5pt | 4. a)they: Scots b) it the advert

2(pts | 5- a} to persuade potential customers to purchase more of
particular brand of product or service.
b) advert about brand of whisky and the encouragement of

Scots to drink responsibiy.
7 pts Text Exploration
1.6 pt | 1-a) attempts d} misuse ¢) widely
2-
1.5 pt Verb ' Noun Adjective
to consume consumption consuming A
to sponsor sponsor sponsored
| /sponsorship
to abuse abuse abusive
to communicale communication commumnicative |

LB pt | 3. 1,b) He said that he had seen a billboard advert in the main

. road of the city.
2.b) The Scottish Executive sponsors the advert.
4.
Lp pt is/ /2l fizd
attempts-Scots others changes- messages
faces

[4]

1Pt | 5. Governments should introduce strict regulations on negativ
5 pts advertising.

Part 2 :Written Expression

3P5 " Topic 1 : Form
2pts Content

2.5 | Topic 2 : Form
2.5 pts Content

B7 ) i
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